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$O(p+\log pn)$ O O ${n\choose m}\bmod p$ OO O O$p$ OO OO

gooo

$${p\choose i}=\frac pi{p-1\choose i-1}$$

000 $1\le i\le p-1$00 ${p\choose i}\equiv O\pmod p$[]

$$(1+x)"p\equiv {p\choose 0}+{p\choose 1}x+\cdots +{p\choose p}x”~p\equiv 1+x"p\pmod p$$
O ${n\choose m}$00 0O $n=k 1p+r_1,m=k 2p+r 2$00 0 O

$$(1+x)"n\equiv (1+x)"{k 1p+r 1}equiv ((1+x)"p)~{k 1} (1+x)"~{r_1}\equiv
(1+x7p) "~ {k_1}(1+x)~{r_1}\pmod p$$

000000 $xm$ooooO

$${n\choose m}\equiv {k_1\choose k 2}{r 1\choose r 2}\pmod p$$

gooooogo

$$\text{Lucas}(n,m)\equiv \text{Lucas}(\Ifloor \frac np\rfloor\Ifloor \frac mp\rfloor){n\bmod p\choose
m\bmod p}$$

gooo

0 0 p3807

const int MAXN=1e5+5;
int frac/MAXN|,invfrac|[MAXN];
int quick pow(int a,int b,int p
int ans=1;
b
b&1)ans=1LL*ans*a%p;
a=1LL*a*a%p;
b>>=1;

ans;

int Lucas(int n,int m,int p
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n<m ;
n<p 1LL*frac|[n/*invfrac|[n-m|Ssp*invfrac/ m|%p;
1LL*Lucas (n%p,m%p,p)*Lucas(n/p,m/p,p)%p;

int main

int T=read int();

T--
int n=read int(),m=read int(),p=read int();
frac[0]=1;
_for(i,1,p)fraclil=1LL*frac|i-1]|*i%p;
invfrac|[p-1/=quick pow(fracip-1/,p-2,p);
int i=p-1;i;i--
invfrac|i-1|=1LL*invfrac|[i|*i%p;

enter(Lucas(n+m,n,p));

Joodn
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$O0\left(\sum p_i~k+\sum \log_2 n\log_{p_i"k}n\right)$ O O ${n\choose m}\bmod p$ DO OO OO
$p=\prod p_i"k$[]

goog

0000 ${n\choose m}\equiv x_i\pmod {p_i~k}$Q0 00000 DOCOO0OOOO
$$ {n\choose m}\equiv \frac {n!}{m!(n-m)!}\pmod {p~k} $$

0000000000000 00000000000o0o $nis000 $ps00D00O0 $9(n)$god
0 $f(n)=\frac {n!'}{p~{g(n)}}$p0 OO OO0

$$ \cfrac{\frac {n!}{p~{g(n)}}}{\frac {m!}{p~{g(m)} W\frac {(n-m)!}{p~{g(n-m)}}}p~{g(n)-g(m)-
g(n-m)Hequiv \cfrac{f(n)} {f(m)f(n-m)}p~{g(n)-g(m)-g(n-m)\pmod {p~k} $$

000 $(f(n),p™k)=1$00 000000000 $n=ap”~k+bs[d

$$ n!=\prod_{i=1,p\mid i}~ ni\prod_{i=1,p\not\mid i} ~ni=(\Ifloor\frac np\rfloor)!p~ {\Ifloor\frac
np\rfloor}(\prod_{i=1,p\not\mid i}~ {p~k}i)~a\prod {i=1,p\not\mid i}~bi $$

goo

$$ f(n)=f(\Ifloor\frac np\rfloor)(\prod_{i=1,p\not\mid i}~ {p~k}i)~a\prod_{i=1,p\not\mid i} ~bi $$ $$
g(n)=g(\Ifloor\frac np\rfloor)+\Ifloor\frac np\rfloor $$
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00 $O0\left\sum p_i~k\right)$ DO O 00O $O0\left(\sum\log 2 n\log {p~k}n\right)$ OO OO OO0

oogd

00O p4d720

int quick pow(int a,int b,int p
int ans=1;
b
b&1)ans=1LL*ans*a%p;
a=1LL*a*a%p;
b>>=1;
ans;
void exgcd(LL a,LL b,LL &tx,LL &ty

tx=1,ty=0;

’

exgcd(b,a%b,ty,tx);
ty-=a/b*tx;

int inv(int x,int mod
LL t1,t2;
exgcd(x,mod,tl,t2);
t1%mod;

namespace Lucas
const int MAXM=30;
vector<int> frac/MAXM|;
int p_cnt,prime[MAXM!,y [ MAXM!, pod MAXM];
void Init(int p,int mod
frac/p cnt].resize(mod+1);
frac/p cnt =1,
_rep(i,1,mod
i%p)fracip cnt|[i|=1LL*frac/p cnt] i-
frac|p cntllil=frac/p cnt]li-1];

primelp cntl=p;
pod|/p cnt|=mod/p*(p-1);
ylp_cnt++]=mod;

void init(int mod
p cnt=0;
int t=mod;
int p=2;p*p<=t;p++
tosp==
int mod2=1;

*1i%mod;
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t%p==0)1t/=p,mod2*=p;
Init(p,mod2);

t!=1)Init(t,t);

int f(LL n,int i
int ans=1;
n
ans=1LL*ans*quick pow(fraclil[yli!!,(n/ylil)%pod|il,ylil)%syl[il*frac/i][n%sy
illsylil;
n/=primel[i};

ans;

int g(LL n,int i
int ans=0;
njans+=(n/=primel(i]);
ans;

int cal(LL n,LL m,int i
int t=1LL*f(n,1i)*inv(1LL*f(m,1i)*f(n-m,1)%y[i]|,yli])%sy|1i
t=1LL*t*quick pow(prime(il,g(n,i)-g(m,i)-g(n-m,1i),y[1i
t;

’
Sylil;

int C(LL n,LL m
int mod=1,ans=0;
_for(i,0,p _cnt)mod*=y|[i];
_for(i,0,p cnt
int x=cal(n,m,1i);
ans=(ans+1LL*x* (mod/y[1i] )%mod*inv(mod/y[i|,y!i]))%mod;

ans+mod ) %mod;

int main

LL n=read LL(),m=read LL();
int mod=read int();
Lucas::init(mod) ;
enter(Lucas::C(n,m));
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